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Before we start, you will need to get yourself some

B strips of paper that are equal in length and some
.4 paper circles that are the same size.
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|1 Comparing Fractions
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Sam and Ruby each have a paper circle of the same size.
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5 Sam cuts the circle into 2 equalparts.and keeps 1.part;

2
7 | Ruby cuts the circle into isequabpastsiand keeps dupants
5 Who keeps a bigger part, Sam or Ruby?
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| Comparing Fractions

3 Sam and Ruby each have a paper circle of the same size.
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1 : Sam cuts the circle into 2 equal parts and keeps 1 part.
Ruby cuts the circle into 4 equal parts and keeps 1 part.
4 Who keeps a bigger part, Sam or Ruby?

5 L Are you able to help solve this problem by

3 /| looking at the picture and using the pieces of

paper in front of you. You may cut, fold or
5 write on the paper as you see fit.
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Is this possible?

What would it look like?
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| Represent the two fractions by using strips of paper

D)0

and folding them and then drawing a bar model.

Fold your paper

Draw a bar model
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o Which is greater, 2 or 2 ?
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Explain how you know.
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e % is greater than % :
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5 | Watch video cllp "Explanation 1"
)87 B 71 Y94.0£439Vs 5111453 7

5

SN




(o
SO (o (M)

=l
=9

SN

02
-

1 W Uigo
SV 229

64

16

. Watch video clip "Explanation 1"
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2 4 2 quarters is greater x

than 1 quarter.

So, &5 is greater than L .
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N e Ruby cuts . into 4 equal parts.
=

Sam cuts . into 2 equal parts.

The parts Ruby gets are smaller.

. is less than 5 .
' Watch video
So, % is less than % . Cl.i.p @ @
Legeawrnan 2 "Explanation 1"
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| o Which number is greater?
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o Which number is smaller?
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| ° Compare using =, <or >,
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| Draw them out as bar model if this helps you.
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Did you notice?
If the numerators are th
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Comparing Fractions

Compare the fractions and fill in the blanks.
Shade the bars to help you.
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o Compare the fmctions and fill in the blanks with fractions, > or <
1 Shade the bars to help you.
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